
        

 
 

  

09/10
  

 

*  Cobra recommends you always wear a helmet while riding. P lease never operate your motorcycle while under  

 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – FORMED RACK 
4 – WASHERS  
2 – M8 x 40mm BUTTONHEAD BOLTS 
2 – M8 x 20mm BUTTONHEAD BOLTS 
 

Application(s) > 

 HONDA REBEL 250                                1996-2015 

Instruction Manual > 

Your formed rack will install in just a few minutes using common tools.  Read all instructions carefully and 
completely before installing your new rack. 
 
1. Remove the (2) left and (2) right M8 fender rail bolts/nuts. Discard bolts, but save (2) M8 nuts. 
2. Install rack by inserting the longer supplied M8x45mm bolt through the front mounting hole of rack mount, one 

supplied washer, fender rail/frame and into the stock M8 nut retained from Step 1. Insert the shorter M8x20mm 
bolt through rear mounting hole of rack mount, one supplied washer and into fender rail/frame. DO NOT 
TIGHTEN at this time. Repeat on Right Side. 

3. Align rack and tighten all bolts. 

 02- 4106 

DOCUMENT NO.  0019 REV. A 

 

 

Looking for dependable motorcycle luggage rack & support? Rely on Cobra USA for quality and long-lasting products.

https://www.motorcycleid.com/luggage-racks.html
https://www.motorcycleid.com/cobra-usa/



